Bem'key"

Use the solubility curve below to label the following solutions as saturated or unsaturated. If

unsaturated, write how much more solute can be dissolved in the solution.

Solution

Saturated or Unsaturated?

If unsaturated: How much
more solute can dissolve in the

solution?
a solution that contains 70g of
NaNOj; at 30°C (in 100 mL H,0) IO + x = Qs
959 NaMOs UnSOdumﬂd =
" \0e g WD X = 263
a solution that contains 50g of ; ey
NH4Cl at 50°C (in 100 mL H;0) d ED+ X = 50
509 NHuC <pFuvale
160 g HzO X= 0Og

a solution that contains 20g of
KClO3 at 50°C (in 100 mL H,0)

20g K03
" 1o0a #2120

Solurated

a solution that contains 70g of Ki
at 0°C (in 100 mL H;0)
129g I
\OB 4 HLO

Unsatuvated

7[)3 +X & l2‘i8..

i

Additional Practice:

X=999q
YA\

1. a. At 90°C, you dissolved 10 g of KCl in 100. g of water. Is this solution saturated or!unsaturated 5

b. How do you know?

534 KCO dissolve ' 100G H20 ot GP°Cis saurathon .

2. A mass of 100 g of NaNOs is dissolved in 100 g of water at

802°C.

|"f‘5'8 MaNOs/toOS #20 =

a) Is the solution saturated or[unsaturate_a_ D

b) As the solution is cooled, at what temperature should solid
first appear in the solution? Explain. At 35°C IDOS
s, salymphon Lor NK{M3 . See Graph.

3. Use the graph to answer the following questions:

Which compound is most soluble at 20 2C? KL
Which is the least soluble at 402C? _Ce2(S04)3

Which substance on the graph is least soluble at 10°C? Kuos

4. A mass of 80 g of KNO3is dissolved in 100 g of water at 50 2C. The

solution is heated to 702C. How many more grams of potassium
nitrate must be added to make the solution saturated? Explain
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